INTEGRATION INVOLVING INVERSE TRIGONOMETRIC FUNCTIONS
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INTEGRATION INVOLVING INVERSE TRIGONOMETRIC FUNCTIONS
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INTEGRATION INVOLVING INVERSE TRIGONOMETRIC FUNCTIONS
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INTEGRATION INVOLVING INVERSE TRIGONOMETRIC FUNCTIONS
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INTEGRATION INVOLVING INVERSE TRIGONOMETRIC FUNCTIONS

6 On the same axes, sketch the graph of y = 25inZX foro<x<2and x=2sin%L foro < y < 2. Find the area of
the region enclosed by the curves. 4 ’
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INTEGRATION INVOLVING INVERSE TRIGONOMETRIC FUNCTIONS
7 The curve y= 71_1-2 is rotated about the x-axis. Find the volume of the solid enclosed between x = 713- and
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i
9 Without evaluating the integral, explain why J llan" xdx is equal to zero.
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12 Differentiate xcos™ x - Jl —x~ and use the result to evaluate I cos™ xdx.
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d . - _ X
14 (a) Prove that —(xsin”'x)=sin"' x +
dx 1—-x°

b) Hence show that [ sin" xdx =& 433 ‘
B Hionce shonthst Jo - xdx=12+"2——1- (You may use the substitution u=1-x")
0/ A [ m-'x) - oo x | (rnodm‘ nhd )
dn | —x*
3 2
L) /,)w-’x da = Q!_ ’L/UW-|1) — X da
e | —x*
0 0 | Iy
~ . - £ 2-_‘_1;____,_ dac
X — 2
- D o VI—%
1y
T gt de
;2 2

|2
2 _
- :I_+E l
|2
:l+—@‘)
12 =

' Section’B -Page 8 of 8



